No.1

S wY - J4—)LF &R - R - SEERKR 8L FE T)
Pl mrzemrmmes a— 1 [60] B4 FEIERBREFRNFELBERR a— R [17636901] #HE HE @A
RIS MIBREFERERE LR EED BG4 BE 7 IBTh S EB N EE L RIS a—F | 083100 | Rl AT HE =
I i || mEEs i R[] s il R || s i e
03/30|BF R T|ERE X 4REX 108094 |2 |[{ZE#—B 3 |@REEX 1#01 3[XH XRZ 2|REKX 11#003 |4 [fE4KEH 2 |REX 11722
100m ZRIk ~1. Tm Tk ~1. 6m I ~1. Tm I ~1. Tm
S5|EF B 1REX 11723 |6 (Fk i 3 [REX 117028 |7 (248Kt 2 [[REX 118031 |8 [ HE 1 [ERFRS 11040
_ ZRIk =1. Tm ek ~1.9m FI -1. Tm Rk =1. 2m
03/31|8BF P TMZE#—B 3 |mEX 217084 (12 (B4~ Kfgth 2 [REX 227028 |3 |i& B 3 |mEX 22#31 |4 lfEARBEC 1 [REX 227043
200m Rk -0. 3m Fk -0. 3m I +0. 3m B -0. 3m
SlxE X 28X 22%057 || 6|HE FRE 1 [ERFRS 227081 || 7|F®& B3 2[ZXEWK 22%97 || 8 |fEIE LR By iEE 237509
_ _ KL -0. 3m _ R +2. Om _ _ K Ipk +1. 6m Ik —0. 6m
03/30|8BF R T|EH - Team Accel 50¥059 (12 (FEiE LER 1 (B iEE SIFNMT (3 [=iE =R 2(BE7B—% STRT9 |4[BAR BRE 1[KBE—S 52%005
400m FE K 38 I
S5|tHE #HiF 2|XE=H 52#M18 (6| K&H ER 2(KkF—& 528031 | T|RTE BHE  2[KBE—= 53#13 |8 (#R5] X 1 |(EAKs 53#014
F I F I I R
03/31|58+F P 1|kl BEf 2 [REX 1575670362 |[&H BN 2|EFREKXFE |[1708%056| 3 (& BX 2[REKX 1759853 || 4 8K HE 2 |REX 25300577
800m BRS K 308 TE
S5|KI #niE 3 ﬁﬁ“ﬁk 257017086 || 6 [(AH #fEikE 3 ﬁ%ﬁ 25702708 | T [E#E FBA 3 ffil;l}—% 250470618 (BB M1 3 Ei?% 257057028
T3 xS xS X
03/30|BF R 1|k BEf 2 [REX 453028061 (12 (B2 IEHR 1 [RERIIES |4203%040( 3 |28 K 3[HREX 457047063 | 4 (Fth B 1 |REX 453047075
1500m BRS R L T
SEE &3} 2[REX 457045096 || 6 [#5K FHE 2 [REX 457068078 | 7 1B A 2 [REX 45306%096 || 8 K+ FTE 1 [|REX 45307073
_ = _ _ TE _ I _ _ KI5 |
03/31|8B+F RS 1|88 X# 3 |EX 145352%027| 2 | B 1[REX 1453537036/ 3 |Zai @3 1 [REX 1453565030[ 4 |REE B3} 2 [fREEX 145359079
5000m = I FE FE BRE
5= MX 1|REX 1557027009( 6 | &2%F #eF 3 |REX 1553095026 7 IR >R— 2 |BARTEZX 1557095076 8 |5i RT3 [REEKX 1553205057
_ ) i 2 _ gl _ 55 _ TE |
03/31|8F R 18K #hAL 2 [kKFES 15865 [[2|KFE #HE 2|ByIE—S 15873 |3 |ER =X 3 |E~iES 15887 4K EAN 2|EviEs 16752
110mH[1. 067m/9. 14m] KRIL +1. 2m RIL +1. 2m Rk +1.2m I +1. 2m
S5ED WA 1|AIES 167063 |6 (e FKX 1|E~AEE 17¥049 | 7(RL &3 2 |[FEHES 17877 |8 =R 1 |BAREEKX 187037
TR 0. Om TR 0. Om TE +1. 2m HA 0. 0m
03/30|8BF P 1[FH f#— 1|Team Accel 54¥046 (12 (RNl Eml 1[FHREX S56FM1T7 |3 (@)l D 2 [BErB—8 58Fp55 |4 |&8F ZUE 2| KH—% 59%034
400mH [0. 914m] FE R I R
5 |ITIE E 2|kF—& 153005001 6 (K% = 2|XE=s 1700011 7|K& BEAN 2[(EsES 17201807218 |FIR 1&F¥E 2 |4A5 15701%073
Z I I I XY
03/30|8F R e BEX 1 PN iR a8t 2 =% XX 2
4 x 100mR 1|EF @BFE 1[REKXB 270 |211ER R 1 |EFEXFAE| 4806 (|3 |FEEA EA 2 [JEEKXC 447026 |4 |HNE RE 1 |BERERS 447559
i NI S W P/ 37 tEH BA 2| ME e 1| &k A CEF 2 |&kW
ZREXRM 2 Rk &2 Hit S8 2 kH 1BE 1
#E A2 R WE 2 I B 1 B Rk 1
b|ZFHEMAR 2| KH—FA 447089 |6 AR RE 1 |KBE—B 44%97 | T|1HRA #HZE 1 |LHEZS 45069 [|8| KB ER 2|KF—&FA 457181
;i —F 2 |ZW A # 2 (F HA EN 2| T I [E 2 (%
_ _ Ak KEg 2 XiE BAE 2 tH #HF 2 FHith EX 1
03/31|8F R Bl Bt 1 B BE 2 HEHAEE 2 HEMARE 2
4 x 400mR 1|t& B 3 [REXKA 37217098 || 2 | K+ ;M 2|iREXB 3BT 3 |FEH BA  2|RFEXKFAT|3IFI6H86[4FK K 2|/ KEH—FA |3737F31
ERRMBIZ 1|k EBE g3 2| %&kE R BE 1R KN BFE 2 (%
2l _Em 1 hE MR 2 BERE &1 #E B 2
=5 @E 1 ik BRE 2 AH #ME 3 Et+EEXR 1
|melx MR 1 |[EFS 357408024 (16 (#3F ERE 1 |EHZFEREE | 372428090 7 |iZREARE 1 [|REKXC 37ATFY64 | 8 | KT #Bs 1 |FNfEH 45312733
£ MK 2 |&kE =% EX 2 |&W wma =FE 3R gk AR 1 (TR
g EE 2 ] = AHB {8t 2 EREAN 1




ckSwo - J4—)L FKFEB - 1B -

ECEx R (8L E T)

No.2

Pl mrzemrmmes a— 1 [60] B4 FEIERBREFRNFELBERR a— R [17636901] #HE HE @A
EREER TR F K RE R ks d g BE o BTN S E B N ERE L 55 a— K [ 083100 | s HM =
I i || mEEs i R[] s il || s i e
03/30|8F R EEREES ESRTFC mi2  [2(@m)l F/h  2|[E—a 25 6m61 |3 |RiE  E& AAER 6m60 [ 4 [fEH @A BE KRG A|6m33 (+3. 5m)
ENE Bk FE +1. 6m &% +2.Tm BH L Il +1. 1m Rk 236m03 (+1. 4m)
S5FF Bt 3Jmr7zu—ts57|m6(+2.m(6|FE B 1[EEXKFAS|MS2.2m|7 [ E+EEN REKREAS[5m80(+2.2m)| 8 [ILA BHE 4= 5m70
_ KL 436m05 (+2. 0m) _ _ I 233m66 (+0. 2m) R 435m40 (+1. 6m) I +1. 9m
03/31|8+F P 1|#HA & 3J|REX 14m62(+2.7m) | 2 [RI3E B& 1 [REEX 14m34 |13 |F4E S X 13m83 (4 [hIl 5 E—a>9 13m09
=Bk ZRI, 2314m39 (+0. Tm) ) +0. 5m I +0. 2m B3 +1.7m
S5\ #F 1 |HERFES 12m97 |6 [T Hth 1[REX 12m88 |7 |[#&EF EZ EEX 12m86 | 8 Kk f&& RRZES 12m61
a ) FE +1.9m 2RI +0._5m B +0_4m _ FE +0._3m
03/30|5+F R 1| BA merzu—ts57[ 200 |2 |(BH ME 2|EviEE m0  (13|&& HZ X m8s [[4|%F0 FHE ARES 1m75
EE Bk RY% RY% FE R,
S|BHEKRE 1 |ESFES Im75 |6 [8HE &HiE 2 |[FEHAEES m70 (|7 [/h#%  BE E—a1>27 m60 (8T 3k IFNERFS|  1m60
S 1% ey i
03/30[BF RS NEEIE T2 TR 17 4mo0  [[2|KmE BEAT im0 [3|ER & mRrRU—+r557|  omd0 || 4 [FERARES KE—& 2m90
ek Rk Il Kk I
S5 E#X ’;'ﬁg;ijzjclﬁl 2m90 |[6[:E%Z mEm DI ’:’ﬁ%ﬁlﬁl 2m80 || 7|iBR =fa SRR L
03/31|Fh=Fah, R T &3 1[N m73
FafL$% (5. Oke] Tz _ _
03/31|EmEBF | R 1| K& X8 2 13m12 |2 [+ EfmKER 1 1m0 |[3[&IE —i& 1 11mb3 [ 4 [& I KEA 1 10m87
st [6. Okg] RRFES BTIE—5 RRFES BHE
5 |[RREEL 2 om24 |6|F% =& 2 T WA CTITRE 2 8mi1 [ 8RNIL  #h3R i Tm31
_ _ EyilEE _ _ TIRIRFS _ TEBRES _ _ PN RN AT
03/31|—R& 5B+ P TIXFx DB 2REX 13m67 || 2 [BrA  #heR 2 [REEX 13m27 |3 [ALIR  FFRk EEX 12m78 |4 (FAFE & X 12m31
fat#z[7. 260ke] #H BRIk 3 I
SHEH#H ERX 2 5;.’*1%7( 11m14
_ _ R _ _ _ _
03/30|m®BF R &8 #AE 1 |ZERFES 42m01 (2 |EH BE 2 |HRFES 38mb0 [[3[KE =48 RRFES 38md8 || 4 [EMKED BrIE—S 31m71
FI#E$% [1. 75ke] FE FE FE Kk
S5|&E —# 1|ERPES 29m60 || 6 | &S KiE 1 |HREFES 29m34 || 7 [RAL #AER N ES NI 23m35 A0 FEK IFRNERFES| 2E
TE TE Ik _ I
03/30|— &5 F R 1T [HERMEAN 2 |REX 43m69 |2 |BEH K— T1|REX 41m93 |3 |BEFE =B IAER 38m84  [4|7BE &EA MR 38m61
FI#&E$% [2. Oke] & K% ) FE
S| EX 1|EREX 38m60 | 6 |#miE HE 3 |FREEK 38m23 || 7|{&EF #H|A EEEK 3mb0 [[8|KE & R PE R 37m30
F5 _ BE - =R _ 15
03/31|EREF R 1EH MF 28y As 5om86 |2 |®AEF EFE 2 |FAS 50m73 |3 [#&HE 3D Aifs 49ma6 (|4 [{EAR & FERES 49m46
1 U $%[800¢] Rk TRk FR Ik TE
SlEXR #ith 2445 46m86 || 6 (BHR & 2 [kKFEm 46m71 [ 7 |EE HE BifEs 46mb8 |[8|BL fwz AH—5 44m25
_ _ _ R _ _ RI% _ _ Rk _ _ _ R _
03/31|— kB F R T|HE ZB  3|&HEX 62m79 | 2 |Fx ek 1 [REBX 5m24 |3 |iE®E BN =] 5om99 (4 [t&)Il F— ERS 51m46
1 U $%[800¢] R P38 Rk xR
SElE BX  T[mEX 5Imi3 [[6[/ix R& 1[RE\EX 50m99 [ 7[hF =AY SRR 49m76 [8|ZER EA TR 49m65
_ _ RY% RI% _ FE _ R
03/30| &R B F R 1 [EH — 2|ErEe 55m00 |2 [KXEH ®KX 2|&RES 50m80 |[3 Ak HE RES 50md5 || 4 | KEr [E3 R =] 49m71
NI —1%[6. Okg] R E ¥ E¥ L
S5|KE Bl 2|&RES 49m49 (6 |&h HEFR 2|RES 49m27 |7 |[RREFES RS = 46m88 (8 |=® HE RRFES 45m29
_ E L5 Ik TE
03/30|—R& 5B +F R TRA K@t v |REX 68md2 || 2 [E4f EHR 4[|REX 63m32 |[3[|dLaF IRk X 59m12 (4| KE £5h X 55m87
N —1[1. 260kg] K EE Ik FE
S5(ENE fMw&E 2 [REKX 54m06 |6 |KFZx ME 2 |REX 53m61 || 7|F@EF T|A X 49m03 || 8 |FaFt ZM X 48m62
ZIk FE Bl I




ckSwo - J4—)L FKFEB - 1B -

ECEx R (8L E T)

No.3

Pl mrzemrmmes a— 1 [60] B4 FEIERBREFRNFELBERR a— R [17636901] #HE HE @A
LA MIBREFERERE LR EED BG4 BE 7 IBTh S EB N EE L RIS a— R [ 083100 | ms:ir HE =
I i || mEEs i R[] s il || s i e
03/30|8F+7& R 188 & 3[mEX 11724 2[5z FE@ 2 [REX 11§37 [|3[A% & TRAER 117065 [ 4 [FE#k #t TRAER 117074
100m FE 0. Om R 0. Om 2RIk +1. Om Rk +1. Om
SlEM BAX  2REX 118095 |6 /B #&E 1 |ZREX 118096 |7 (85K FA AEXR 11#097
= I= 1. 0m piE) 0.0m ) +1.0m )
03/30|8F+7& R 182 FE@ 2 [REX 51875 |[2|EH+ RH 2[{EEX 52723 |3 |EmM X TAER 52#093 |4 |Em Hth AER 53720
400m R FI FIE F I
5|18 & J[REX 53735 |6 /B A 1 ﬁigjt 547078 || T|#K A iﬁ-‘gﬁ 547590
FE x x
03/31|8F+3& R T|HF RHE 2 [REEX 4539093\ 2 (/88 B 3[RmEX 45415098 | 3 [/NB A R K 4552052 | 4 [EH X MAEX 453547036
1500m I T I FE
S|FEmE B 2 ﬁﬁ“ﬁj{ S5707FM1 6 (85K HA 3 ﬁi“;j{ S 13713 || 7 |82 JRER ﬁ?ﬁ 55325713
I x D
03/31|B++1& PRI 1|EF RH 2[REX 157084 |28 & 3[REX 158095 |3 |8z mEd AER 167060 [ 4[5+ @K TR 165491
110mH[1. 067m/9. 14m] TRk +3. 3m FE +3. 3m RER +2. 3m FE +2.3m
USRI EE 3PN 17#052 |6 [ZEk Eth 2 [REX YR A GEE N TRAER 19¥092
RIh +2.3m _ R +2.3m Rk +3. 3m
03/30|B¥+12 R B2 RE 2 [REX 6m63 'S & 3[EEX 6m39 mk Bt TAER 6m24 He A TRAER 6m16
ENE Bk A +1. 6m FE +2. Om Ik +0. 9m RI +1. 2m
INB HE 1 |REX 5m98 a8 BX  2[REX 5m93 wAR A PPN 5m32
_ I +1.2m _ FE =0. /m RIE +0. 4m _
03/30|8F+7& R R RIERES mo0 [[2|&8& & J[|REX m90 |[3|EHF T=HH AER m/5  [[4|BE #h RAER m70
EE= Bk Z I FIE I F I
SlaM BX 2[REX m70 (6|3 mE 2 [|REX m70 |78k HA AER m45
_ ) _ FE _ B Z I
03/31|8B¥+72 R T|HF RHE 2 [REEX 4m00  |[[2|&®E B 3[REX 3m60 [3[Fz  RE TAEKR 3m30 [[4|FEH®& Bt AEKR 3m10
EE Bk F I FIE REB F I
U R EE 3PN 3mo0 |6 (8K HA 3 [REX 2m80 || 7|EM X AEKR 2m80
I F I FE _
03/31|B¥+i& R B 18z FE 2 [REX 54mb3 |2 [EA A 2[HEX 54m29 |3 |k Eth TAER 50m67 |4 & AEX 46m90
1o 1) $%[800g] RED FIE R FE
SUNVE #HE 1 |ZREKX 45m08 |6 |A® REH 2 |@REEXK 42m03 T[8AR A X 25m39
T B8 _ I
03/30|8F+3& R 1&Em®, Tt 2[REX omi8 2[5z FE 2[REX IENBEEEEE TAER Im96 |4 [EH X AER 8m4b
fat 7. 260ke] TRk RAD FiE FiE
5|+ REA 2REX 8m32 |[6[8AK HA 3[REX 8mo6 [ 7|/NEB A K Tm88
_ I F I Z I _ _ _
03/31|8F+3& R 18z RE 2 [REX 6md8 [[2|EF R 2[HEX 28m94 |3 [EHA X TAER 2im80 (4[]8 & AER 27m11
FI#&1% (2. Oke] AR FI FIE FE
S|mE Eh 2HWEX 26m35 [|6 /B #hm 1 [ZXEK 22m01 [ 78K HEA TAER 19m95
i _ i ) R Ik Yk —
03/30|%F R 1hE R T|[EEXRFAS|] 12856 |2[mFEgEcF 2[H/ A 13#016 |3 [RO ER REXFAR| 13821 [4[BEERE KE—& 137023
100m R -2.9m R -0. 4m R, -2. 9m R -0. 2m
5FM & 1|+ A5 13#25 (6 |XH w3 |HEEH 137036 (|6 (A DT TR 13#036 |8 [{EARKEK KeE—5 13739
_ _ Rk -0. 4m KRB -0. 4m __|&E -0. 2m _ X -0. 4m
03/31|%F PRI T/hE e 1[EEREAS| 268019 [2[2A\TF+2D8 2|ErEe 268074 (13| WYV« BE 1 [HEKRFAS| 268075 4[RO ER RERFAT| 27706
200m P -1. 5m B3 -1. 5m KL -1. 5m Rk +0. 4m
AlLE FiE 1 |EEXFAE| 27706 || 6 |HFEELF 2 (H/ AP 217043 [[7|kE #57E BRE 27790 [[8|EO FF#h AH—5 287550
RIh -1.5m R -1.5m Rk +0. 7m Rk +0. 4m




No.4

cSvD - J4—ILFER - iRM - BELERR B FET)
R a—F |60 R4 FIEABBEFRFELHERR o— K [17636901] #¥E HE #XE
TAEFR TIEREF R RE LR BB A BE v IEThiR S BB N ERE L5 a— R | 083100 | ALk AT HE =
I FiR || mEEs iR, R[] s i || s FiR e
03/30|%F R e #&F 2|kFZ=8 157008023 [ 2 |4+ {GME 2 [KEBE—S |[1201886 |3 [fEAKEKR 2(K@BE—" |15702#033(4|hHFV+EBEE 1 |HEXRFAT| 15027098
400m TRk TRk Ik I
S/hfE BE 2 |HEFERFAS| 1703%56(6 (B F 1 |KEE—T | 1720481978 Y 1 |EFERFAG| 17047046 (|18 [BX £kE 2 |HiIES 153047085
TRk T3k I, TRk
03/31|%F R 1|X&m: &B/A 2|5hATEZF 273328052 (| 2| R EI 1 |EhEIEFS | 25733833 | 3 |IAEMF 1 |FAS 25735007 |4 |[IMABESR 2 |[REFEXRFAT| 273B#17
800m R R% Rk Rk
S|1RF FHi 1|IIFNIRFS|273#33(|6 | XK RALA 2|EEFEE |25737882(7 [kl X2 1|&EHNS 257387008 | 8 Bk EK 1 [HEFEXKFAT| 2739715
TRk RI% Rk P
03/30|%F R 12F TN 2/&E0S SOTTHOA(2 ([Ea RO <CH 1 |LHETH 57137933 | E£&F 2 |PEEF 55107464 [Bte =B 2 |me 55321%20
1500m R R Rk R,
5Bkl EHEK 1 igzj(fFR% 557207025 6 [IMAEER 2 ii;jtitﬁf%' 57260038 7|4 & 2 E%EL;T%’ 557297055 | 8 |kfE RZ 1 1&;;% 55331%51
03/30|&ZF R 1R PE 2|BiIES 10758F 11| 2 |ILA R 1 |LEZE 115708%098) 3 |'=EEM AT 2(E7B—& (11722385034 [KkiB X 3 |REXGEMS [1157527790]
3000m Ik Ik Ik FE
S FEFE  1[REX 115328%032) 6 | KK x4 2|EESFES |11239%857|8F FNH 2|&ENS 1157743%043|| 8 | IR HE 1 |EEFEE [12932793
Ik Z Ik Ik I
03/31|&+F R T|XKIE =8 3 |ZHEX 168012 2% ® 1 |4FA5 18%31 (3|FFF X3k 2|LiE=S 187048 [[4|RE KRB 1 |HEXFAS| 18752
100mH[0. 840m/8. 5m] R =0. Im TRk —0. Im R —0. Im R =0. Im
5 |fpiT ) B/ A 19882 |6 |8l Hx£ 1|XH—& 208052 7| RAGREE 2|XH=S 28%123
_ I =2.1m _ R I —0. 1m RIE —0. 1m _ ]
03/30|%F RS 1|E2& ¥R 2(KkFZHE 157710829 2 [/ BE 2 |HEXRFAS| 17108693 (Kix Fix 1|HIES 172148042(14 5%%& B 2|1H=5 15314705
400mH[0. 762m] R Rk Rk RIK
5|K# =Ex 1[HUS 15715870 6 |fiK ®F 2 |LE=% 157168001 |k ®E 2[kKFZ8 3
_ TE _ Rk Rk _
03/30|%F R FE EBER 2 B xx 1 mI TR 1 By = 1
4 x 100mR 1I/hE BR 1 |EEXRFAS| 49867 |[2|ELAKRKEK 2|KBE—& 517092 [[3|7H# @ 1|LA=" 53#50 |4 |HEEME 2[KF—8 53765
(U] I S5 I W P 35 HFE Hk 2%k e BW 2 |%kW Bilg =& 2 |[Z%kH
h¥o 1 EHE | Ay {GME 2 SFiE 5E§E 2 BH &Fx 1
g EF 1 = B&m 2 KiFibth 1 RKAREE 2
5|fMEaL<F 2B/ AHA 547019 |6 |RM ®BE 2[[IFNIERFH| 56§38 |7 [ILAK ?ﬁ% 2 £/ D& 567054 |8 |E=IL #E 1 |XH=" 58F021
BE EE 2%k NE OKRF O 2| ZE BEMER 1 |%kE wWEx HE 1| Z/RE
M IDF 1 FEiE &k 2 TEENE 2 aiE @ 2
03/31|&F R hE BRI i Bx 2 ZRACHH 1 REEDE 2
4 x 400mR 1T[ILE FiH 1 [REXFAST| 47088096 2 |BRE #AE 1 |EKS 45721749 |3 |BE E# 1 |ERZERS 4973485004 (ILAX M 2 |{EFS 45342705
AP BB 1| T x=EH O OB 1 |Z&kW BHE RE 1|%&kH BEMER 1| %k
M FE 2 BB LA 1 BElE EHE 1 g2E ENH 2
RAGRBE 2
S(lLEx #HER 1|X£E=B 45349%151 AH—F e
WAROHCH 1K 371
_ =l &5 1 _ _ _ _ _
03/30(&Z+F R 1|#&BE RBx 3[&EX 5mb5 2(lbE  FiM 1 [REXRFASE|  5m22 J[FW™ Bx  2[HFEXRFAS|[ 5m20 4R ER 1ErE—a 5m10
=Bk I +1. Tm R +3.0m A% L I +1.3m I +3.Im AL
S|FH BE 1|XHE=S 4m84 16| &£ 2|4AS 4m60 |[7|AE #H 1 |HiREF 4m50 (+2. 4m)|| 8 [ o 2 |[B#ZERS 4m35
_ R +1. 7m Rk +0. 5m _ R 234m44 (+0. 5m) Ik +2.9m 487 L
03/31|&F R 1T|1EE #FE 3 |FHFRX 1imd2 |2 | AR E 1 |arB—m Img4 |3 |BAERE 1|4As m/2  [[4|lUAX #mx 2|EAS 9m69
= Bk ZIh =0. 2m Sk =0. 1m Ik ~1. Om Ik =0. 2m
03/30|&ZF R 1% ZH 2|RFXFAE 1mb5 2|KIE =8 3 |ZEK 1mb0 J|/AHE KRE 2|TiR+ 1m40 412 #E 1|LEZS 1m35
EE B ZRIk Ik Ik I
5|F%FT M 2| KF—= m35 [[6[/E 75 1[IFRJIERFE| 1m0 (7|KEH#PE 1|TIRH m25 |[8| L% M 1|(E7E—S 1m20
ZIk Z Yk Ik I




ckSwo - J4—)L FKFEB - 1B -

ECEx R (8L E T)

No.5

Pl mrzemrmmes a— 1 [60] B4 FEIERBREFRNFELBERR a— R [17636901] #HE HE @A
R TRAEF KPR BRI AR gfne  BEr WTRA BN RS o—k [ 083100 | gt EHM T
I i || mEEs i R[] s il || s i e
03/30[&F R TET B® 1 |FX#& w0 2[EM FE 2 |FAR W60 [3[RT EdR  2|FAE R8RG L
B _ e, el ey
B/3T[REET | R TEE EE 2|W/ AT omod
BAL 12 (2 721ke] e _ _ _
WRIERET | A5 Ta BE 1|7 ee e8| 2|&F W= 3 |[ZWFEE | 10m03 3[Rk ME 1| REAEASE| om0
FIx (4. Okg] 1z _ 24 b
/31— REF | B T & 1 [REA TOnTe | 2|XWE fak 2 |mEA TOn43
FIAIE[4. Okg] _ T b
03/30[FELF | R B BHE S(RET 30m08
FLEHE[1 Okg] IE __
03/30|mx&F | KRB 1% FE RAPEES 3Am94 |12 |HA HRFE 1 [KBE—F 0mi0 {3 |RL T 2[0IFNIEFSE|[ 23m28 |[4[EEF Bx 1|(B7E—S 18m13
P 1. Oke] T e, b b
SEEAT 2TAR ez | TIRE WE T |RERERE R
L) b
GRIBRET | R TENEME 2| RAAEAE| 4mlT |2|BA B 2|KH& Wm62 | 3|ETE BE [T E| o/mes |4 MEmRET 2|FAE 2Tm28
1 U $[600¢] T8, 8, b b
S|lM xE THE—B 2Im22 |16 [FH HBR 2| LHE=® 25m74 || 7|kE% HEx 1 |EBETE—S 23m94 |18 Lk EF 2|KFZH 23m13
b, e, e Ze
03/0[FEET | R THE BIRE J[RET 38m30
22 —$&[4 Okg] __ 1% _ __ _ 1l _
WG0[ERET | R TES E5 J(BERIm | 4md2 2| RE J|he W5 3[R BE 1 |mram B2l |A[RA Wi 2| RmEEm | 426
NI —$[4, Oke] A PR £ TE
5&F Bmx 3 |kWFES | 4mod 6PN XA 1 |BsAs fnal | T[&EW &% 2 |&WFHE 3m28 |8[BA ER 2 |Humm 34m2]
_ 241 ___ ES _ __ Al _ _ b _
03/30|— g%+ R 1ZH —% RER 53m76  |[2| KA #A 3 |REX 5m30 (13 |Bm EBESFH I |FERIS 4imd2 | 4|EEB B 2 [REX 45m41
N T —$214. Oke] T b I b
5|NE %E 3 |chm 25 |6[&F Bix 3 |RmFEm | 4m6d |1|BE BE O |REX fne7T |8[WET #N 4 |BAA 26m72
TR 241 b B
0/0[EFLE | RBE | |00 1| BFOE<5  2|FAB 56 |2 |RRERE 1 |FAR 9040 | [BLERZE 2 |RBX | |BE BE 1 [IRIIRTR 2E
100m H [0. 840m/8. 5m R P RI& R
03/30| % +t3& R -3 Iml 1 |BRRERE ] 29829 [12|m% ®i 1PIFNIRFE| 29870 |[3|HFASLKH  2(FAR/ 30%037 BILURRE 2 [REX xiE
200m 2] B b e
/3T[RFERE | R TRBERE 1 |44AE 3RAB5L |2 [BOS< 5 2|4 AR 3RBL| BLERE 2 |ARK | |BE BE [IRIIRTR 2
800m _ 5 _ b _ 1 b b
03/0[ZFELE | R BE BE 1| LRIIRT®| mb | |ERERE 1|45 o5 | |BOa<b  2|FAB M0 | [BLERE 2 |ARKA 35
EBB _ T, _ e, _ e Zib
G3T[RFLE | R TREERE 1 |%4& e |2|FOE<5 2|4 WY 3B Bk 1| IRIRTHE| M8 | [BLERE 2|[AEA 25
ENE Bk _ R 2. Ll | R +1.7m _ I +1. 4m R
03/30| % Fti& R HHEOS< B FAE m3d4 12 |ERERE 1|4FA5 6md6 |3 |=E L 1|IFNIEFS| 6m36 BIWERE 2[ABX xHE
FInIF[4. Okg] b _ _ b _ _ b 8,
03/31|&+ti& R 1EFOSL<H FAE 26m95 |12 (=¥ #i  T|IFNIRFE| 26m/9 |3 ERERX 1|4AS 21m34 ANE 3 2 |iRRER R
£ 1) 35 [600¢] b 85, b b
03/N[FZEBT | B TH EA  2|msmT 2858
PR 75ke] _ 5, _
03/3T[—MEF | R TBE =M 1|ZmA T3
1 Y $[600g] B8




